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T & FERER T
OBl BANT =1 =X o &
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U 7p Hep
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BKE - BIRE (##) HPPE® 150

54k <t B L
A Ei ReAR~Ti% o | wg (B aE] : EE
B KRR IFLVE
EFRZEE ¢ 150 x 5, 000 A | 5.00 1 1 5.00
BLK G YIFLYE
EF7° L-vivh BEE ¢ 150 x 5, 000 X 3| 13.38
BLKAR IFLVE
EFm2F—X @150 x ¢ 150 1@ | 0.90 3 3 2.70
BLKAR IFLVE
EFZA2 F ¢ 150 x 90° 1@ | 0.66 9 9 5.94
KRR IFLVE
EFRZRUF ¢150x22° 1/2 {& | 0.53 1 1 0.53
BLKAR IFLVE
EFZA2 F ¢150x22° 1/2 1@ | 0.38 1 1 0.38
BoKAR IFLVE
EFV7 vy bk ¢ 150 & 3 3
LKA IFLVE
EFo5 Y ¢ 150 7.5K SUS 1@ | 0.34 4 4 1. 36
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toseE DPO. 6mA EE& & 2 2
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EFRZEE ¢ 150 %5, 000 5.00 1 1 2 5.00
BoKAR IFLVE
EF7' VIV BEE ¢ 150 x5, 000 1 6. 01
EK AR VIFLVE
EFZAY kK ¢ 150 x 90° 0.66 2 2 1.32
EK AR VIFLVE
EFAZAU K ¢ 150 x 45° 0.62 3 3 1. 86
K AR VIFLVE
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ERKAF VIFLVE
EFlZAY F ¢ 100 % 90° {& | 0.50 4 4 2.00
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% 71 FAR~Ti& o | =5 [=E 0E] 3 EE
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BRKRAR VIFLVE

EFV 4w b @75 & 2 2

ERKRAR VIFLVE

EFEZSARUK @ 75 x 300H 8] 0.78 2 2 1.56

ER/KFF VIFLVE

EFoS5oo @75 7.5K SUS & | 0.26 2 2 0.52

ER/KRAR VIFLVE

EFfxvv 7 ¢ 75 & | 0.09 1 1 0.09

PEFE O

VIO h— LR @75 | 0.40 2 2 o0.80

TUIHE DPO. 6mAH FE& & 2 2

TS UUEEHM ¢ 75 #H 2 2

BEREM ¢ 75H m 1.7 1.7

MEER

it 20. 97
REZE| 20.97




DEREE
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BOE ZYUE [ RE Y T
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B K & % & HPPE ¢ 150
2 B Fodk <t ik i e | =
EEs
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FEFRET EEH+ DP=0. 60mMA HFRr 2
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B K B 7 B HPPE ¢ 100
£ Rk <t ik .| w2 m =
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£ Rkt ik .| u= B o=
GRIES

RYIFLUERMAT @75 m 20.2] 20.97 - 0.8
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2-3. KL Ef

5



EMBER OKNREFEEET)

2 Lo oAl - & B 2 | & HMER | GFER B &
R3SV 8% $8400 +{nva-+
7. 5K ¢ 100 x 700 {& 2 2
ZOSVUUTFEE $S400 f{Ava-t
7.5K ¢ 100 % 100 x 320 1@ 2 2
F&EE M7702) $S400 f{mva-t
7. 5K @100 x75%x112 {& 2 2
IS UUHE $8400 +{nva-+
7.5K ¢ 100 % 297 x 160 1@ 2 2
mM72S5V08EE $S400 f{mva-t
7. 5K ¢ 100 x 1340 & 1 1
HiEE @o25>2) $8400 +4nva-+
7.5K @ 100 »4my M+ & 1 1
HiEE mMo25>2) $8400 +{ova-+
7.5K ® 75 44y Mt & 1 1
KO RS FCD450
N Aoy bFE2{E St 7. 5K $75 & - - EERET
A+bL—F— FCD450
7.5K »75 1@ 1 1
V7 o=l FCD450
7. 5K @100 /N> KJLAT = 3 3
TS UD%EMR SUS304 RF
7.5K ¢ 100 #H 12 12
TS UTEAR SUS304
7.5K » 75 #H 5 5
LYrvohk—IiL
3000 x 1400 x 1700 & 1 1
= FGD
¢ 600 & 1 1
ATvS SUS304
= 1 1
L) VY
¢ 600 x 140 (H) 4 1 1
LooaiEs
#H 1 1
KB/ Oy MEEE SUS304
$15 m - -
ERET ¢ 15H

WESvXLIT)

ERER




RS

A%
g & OB Al i L9 5L FRAKE & §
SS400 +4Ava-+
F25 V8% ¢100x700 — — 0. 700 2 1.400
SS400 +4Ava-+
=250 TFE |9 100x 100 x 320 — — 0.480 2 0.960
Y22 k=)L |FCD450
TH)57 | 100 — — 0.250 3 0. 750
m72ovY SS400 +4Ava-+
F&E p100x75x112 — — 0.112 2 0.224
FCD450
AbL—F— 1015 — — 0.300 1 0.300
SS400 +4Ava-+
WmMI25VEE  ¢75x250 — — 0.250 1 0.250
SS400 +4Ava-+
HiEE @75 44my Mt — — 0.303 1 0.303
FCD450
KELERE S @75 — — 0.350 1 0.350
SS400 +4Ava-+
25 DME | $100x297 %160 — — 0.457 2 0.914
SS400 +4Ava-+
HiEE @100 44my Mt — — 0.352 1 0.352
SS400 +4Ava-+
W75 UEE | $100x 1340 — — 1.340 1 1.340
0. 051
EHRER SGP ¢100 7.194
hERIER 7.194

RYIFLURY—TEE

ERRT—TER

ARY—MER




FHBEHER OKGRABHFELEET)
4 L oAl - R A& B # 2 & &t B &
1
LPaviRyy AT
2

NnA4oy FEET

$15 m
EREL
(BBESvXFJI) ¢ 154 m




TT#ER OKURABRAEEET)

£ W MB - B s B H L & 3
BH 0.20 4n-3
HEBIEAI T Hen At R m® | 244 244
Sy avHEBRT LB m’ 8.9 8.9
BEXE4LTIERT m’ 5.1 5.1
HrasT m® | 19.3 19.3
BEEBET t=150 m? 6.0 6.0
" CR40~0 m® | 0.90 0.9
oV y—+kIT 18-8-40 m® | 0.30 0.3

FZEMRREAT  h=2.00~2. 50m m 8. 36 8.4




BIER L=

m
* =2 =
T I & 2 i & £
SEX
4180 2120
:"l g‘ VN IA'E% B .Tl §
ol 2 ;{ + o| 2
_I_H BT 3 T 3e
ASAAAN) [ANASANS 8 [2 L__ een 8004 B IS
3180 1520
400 3380 400 500 1720 500
£ (71 B O®B it g = aumgu Py
HwmiER T 4.180 x 2.720 x 2.145 = 24.388 m® 24. 39
w3 UMEBRI Iy 4.180 x 2.720 x 1.395 = 15.861 (D
3.180 x 1.520 x 1.195 = 5.776 2 (=)
3.380 x 1.720 x 0.2 = 1.163 @ (k)
V= D-@-@
=15.861 — 5.776 — 1.163 = 8.922 m°> 8.92
BERAETERT 4.180 x 2.720 x 0.750 = 8.527 @
3.180 x 1.520 x 0.700 = 3.384 (2 (#=R)
V=1-2-3)= 8.527 — 3.384 = 5.143 m°> 514
Bt snT 24.39 — 5.14 =19.250 m°> 19.25
BARERT t=150 3.380 x 1.780 = 6.016 m? 6. 02
CR40~0 3.380 x 1.780 x 0.15 = 0.902 m?> 0.90
avyl)—rL 18-8-40 3.380 x 1.780 x 0.05 = 0.301 m?> 0.30
BEMRREATL [h=2.00
~2.50 4.180 x 2.000 = 8.360 m 8. 36




3. &AFNKE HZNERT



SRR NIERR T BEER &

T f# gl HAL | SR fil 22

AR 1) L BH0.20m3 122.80 m3 | 122.8 | HEFIHELY
Ao+ T BH0.20m3 117.10 m3 | 117.1 | BEFELY
Y HiEmEIE T 42.00 m2 42.0 |XHE LD
REHIEEEIE T 75.00 m2 75.0 (X &Y

F e T 4t-10.0km 122.80 m3 | 122.8

05w U= ¢ () m3 | 122.8

AR RAER i ) R £20 1.0




e S e = = e C1 :4#EHl C2: K
P K & Rk & ok £ T O & §F HOE B1:mt B2:#EL
" B Wr mm fH Oy OB W o fE . C1 C?2 B 1 B2
{M IE: 2 2 2 2 2 2 2 2 EE I%E 3 3 3 3
Cl m C2 m Bl m B2 m Cl m C2 m Bl m B2 m m m m m
No. 1
22. 56 0. 00 0.00 0. 00 11. 28 0. 00 0.00 0. 00 0.00 0. 00 0.00 0. 00
No. 2
1. 00 0. 00 0.00 0. 00 11.78 0. 00 0.00 0. 00 10. 00 117. 80 0. 00 0.00 0. 00
No. 3
0.00 0. 00 23.42 0. 00 0.50 0. 00 11. 71 0. 00 10. 00 5.00 0. 00 117. 10 0. 00
& g 20. 00 122. 80 0. 00 117. 10 0. 00




SRR N T BB EGR

B2 2 ININRVA e | BT i %=

1. &HF

ARUAT 7 2 A H=1.8m 74.3 [ m
7 = AP H=1.8m W=3.0m 1|
PENZS A= [1250 X 450 38 | i
M BEEEE T =y s (1350 X 600 2| &
2.

T ARE T H=1.8m 74.3 | m
7= AP E T H=1.8m W=3.0m 1 | & fT
3. &+ T

SRR A 4.7 | m3
A B RC-40 t=10cm 8.3 [ m2
LR e+ 0.8 | m3
SN AR RC-40 t=10cm 368.6 | m2
GrEZE Askiite t=4cm 368.6 | m2
i e 4t 10.0km 3.8 | m3
o U d w7 3.8 m3




= N =] e Ser. =L
SRR IS T SR
EAD FHELIC DA
1. &4
B Af 7z H=1.8m 77.33-3.0 = 74.330 74.3 m
7 AP H=1.8m W=3.0m 1 #1
T 2Ty [1250 X450 74.33-+2m = 37.165 38
FHBE AL 7 1y (1350 X600 2 = 2.000 2 A
2.
T AR E T H=1.8m 77.33-3.0 = 74.330 74.3 m
7 AMERE T H=1.8m W=3.0m 1 f&5AT
3. + T
FLREHR H 7 AL
(1250 X 450 0.45%0.45 X 0.55H X 38f& Aif = 4.232 4.2 m3
FH BE LR B
(1350 X600 0.55X0.55X0.70H X 2 FT = 0.424 0.4 m3
= 4.656 4.7 m3
P JL 7o AFEME t=10cm
(1250 X450 0.45X0.45 X 38f& ff = 7.695 7.7 m2
FH o FL A t=10cm
[J350 X600 0.55X0.55 X 2f& At = 0.605 0.6 m2
= 8.300 8.3 m3
FLAEHE L 7 L A
(1250 X 450 4.232-0.45X0.45X 0.45H X 38f&5 AT =  0.769 0.8 m3
FH BE A B
(1350 X600 0.424-0.55X0.55X 0.60H X8f&FF =  0.061 0.1 m3
= 0.830 0.8 m3
LN g RC-40 [X| T <0
t=10cm 368.6 = 368.600 368.6 m2
AL AsEitE Xk
t=4cm 368.6 = 368.600 368.6 m2
5 AL
4t 10.0km  4.656 — 0.830 = 3.826 3.8 m3
5 A +) 7] _F = 3.8 m3




4. BEKEHEKL



4-1. EE/KEMH - T



fic K & # # 150
£ 1 RAR~Ti% % " # = _ EE
b | EE | 51|52 53 |g%| &
EKEF VIFLVE
EFRZEE 150 x 5,000 ¥ 5 49 47 62 158| 790. 00
B KT VIFLVE
EF7° L-VIvh B @150 x 5,000 V. 14 14|  59.62
BK AR VIFLVE
EFEZ2F—X ®150% ¢ 75 & 0.5 2 3 5 2.50
BEK BT VIFLVE
EFESARY K @ 150 x 45° @ | 0.46 6 6 2.76
BK AT VIFLVE
EFASZRUR @ 150 x 45° @ | 0.62 4 4 2.48
EK BT VIFLVE
EFESARY KR d150%x22° 1/2 @ | 0.38 5 1 6 2.9
BK BT VIFLVE
EFESRU R d150%x22° 1/2 @ | 0.49 1 1 0.49
BK R VIFLVE
EFU 4wy k 150 1& 3 4 8 15
PE$E L Ot
VI =Lt H ® 150 FCD 7.5K HIshEm#MA H| 1.02 1 1 3 5 5.10
HUHE B2k DPO. 6~0.9m FEE& 1& 1 1 3 5
SHAEA
PE}&E L Of750Y T ®150x ¢ 75 7.5K @ | 0.93 1 1 2 1.86
ERFH
TR B O 7.5K 2 1 1 2
AR—ILE (LA—R)
JHARE @SR 7. 5K H=100 = 1 1 2
%= ¢ 600 #H 1 1 2
ARG ¢ 600 x L50 1& 1 1 2
LoaviRy o ZA1EE | $600xL300 1& 1 1 2
LaviRyy RER | $600xL40 1& 1 1 2
75U HEAHM o715 #H 2 2 4
MHEER
it | 867.71




YIEHER o150 EBKAPE JL—2TI 2K L=5.0m

(¢ 150)

9% &t RE YT

1 1.800f 1.580| 0.530[ 0.750 4.660 m| 0.340 m 40
2 2.600[ 1.510 4.110 m| 0.890 m 20
3 2.750[ 1.190 3.940 m| 1.060 m 20
4 3.990 3.990 m| 1.010 m 1A
5 2.530[ 1.340 3.870 m| 1.130 m 20
6 1.530] 2.770 4.300 m| 0.700 m 20
1 1.000] 3.350 4.350 m| 0.650 m 20
8 4.960 4.960 m| 0.040 m 1A
9 4.250 4.250 m| 0.750 m 1A
10 2.080[ 1.860 3.940 m| 1.060 m 20
11 4.850 4.850 m|[ 0.150 m 1A
12 1. 750 2.000 3.750 m| 1.250 m 20
50.970 m| 9.030 m 22 O

&

A% (¢150x5,000)

12 &




B K & M # P75
£ o ReAR~Ti& % " # = _ SEE
fr | EE | 5-1|52]5-3|v1E| &
EKAK VIFLVE
EFAZEE ®»75%5,000 N 5 1 1 5.00
EKAK VIFLVE
EF7° L-vIvh BEE ®»75%5,000 ¥ 3 3 11.74
EKAK VIFLVE
EFfZARY K @ 75x45° & | 0.28 1 1 0.28
EKAK VIFLVE
EFfZARY K $75%22° 1/2 @ | 0.28 1 1 0.28
EKAK VIFLVE
EFFZRU K $75%22° 1/2 @ | 0.36 1 1 0. 36
EKAK VIFLVE
EFFZAU R d75x11° 1/4 @ | 0.36 1 1 0. 36
EKAK VIFLVE
EFU4 vy k ®75 & 3 3 6
RITIEDOF
HPPE x SPASREX 8Ly 34V [ 75 | 0.16 1 1 2 0.32
PE#E L O+
V7 R — LIS ®75 FCD 7.5K R4 E#A #x]| 078 1 1 2 1.56
TOHE B2k FA DPO. 6~0. 9m EEL & 1 1 2
m2F—X
HPPE ¢ 758&#% ®150x ¢ 75 0.8
m2F—X
HPPE ¢ 503& #& $150% ¢ 75 1.2
MHER
i [ 16.90




YEREERX o715 EKAPE TJL—2I UK L=5.0m

3 &

(@ 715)
ZUE i RE Y T
1 3.070] 1.400 4470 m| 0.530 m 2 0
2 1.400( 1.400 2.800 m| 2.200 m 2 0
3 3.070] 1.400 4470 m| 0.530 m 2 0
11.740 m| 3.260 m 60
& A# (¢ 75x%5,000)




BB K & & #H 050

£ o ReAR~Ti& = I
&5 wE] 7 | T~
EKAK VIFLVE
EF7° L-vIvh BE »50x 5,000 ¥ 3 3 12.9
EKAK VIFLVE
a3—kRUFR @50 x 45° & | 0.32 5 0. 64
EKAK VIFLVE
EFV 47y ®50 1 17
EKAK VIFLVE
LTFa—4 ®75% ¢50 @] 0.34 3 1.02
RITIEDOF
HPPE x PPFH&E8% 3Ly 34V [ 50 7. 5K @ | 0.12 3 0. 36
V7 R — LS ®50 FCD 7.5K R4 E#A £ | 0.68 3 2.04
TUFHE B2k FA DPO. 6~0.9m FE& 1& 3
MHEER

it | 16.96




YEREBERXR  ¢50 EKAPE TJL—2IT UK L=5.0m

(¢50)
9% F RE YT
1 2.460| 0.920] 0.920 4.300 m| 0.700 m 30
2 2.460[ 0.920( 0.920 4.300 m| 0.700 m 30

8.600 m | 1.400 m 60

op
nh

5 A (¢50x5,000)




B K B 5 ¢ 150

% FR 2 VNS5 % H=E =

3L
GRIES

IRV ETRT T ¢ 150 m 742.8| 746.92 - 4.08
K UIFLVEHF T ¢ 150 B\RbIE 503 30
T IRV ERFT ¢ 150 EEhiE ] 142
IR E YT T ¢ 150 A 22
TUHFET ¢ 150 = 4
RERET FE& H & T 4
A7—T42974%— m 742.8
EHRT—TL @150 W=30mm m 742.8
EHRR—FT W=400mm 4 J )L m 742.8
BKEERT ¢ 150 m 746.9
TIUCHFT @75 7.5K A 21H NI ED
HRREBRET tTFRKEO @75 & 2
WEFREL ¢ 75 b3 2
HRREHRET ¢ 600 A 2




fic K & 5 o715

£ 1 ARt % B = BE

i1
To#

fVIFLVERAMT o715 m 19.9 21.5 - 1.56
FUIFLVERFET ¢ 75 s k3 8
FUIFLVEMFET o715 s A 4
N UIFLVEYIER T o715 a 6
AHZHIILBFET o715 a 4
HUHRET o715 Y 2
FERET A £ &3 2
O —F4 2974 %— m 19.9
EHHRTF—JI @75 W=30mm m 19.9
EBHR— T W=400mm 4 JJL m 19.9
BEKEEET o715 m 21.5




fic K & 5 ¢ 50

£ 1 ARt % B = BE

i1
T #F

fVIFLVERAMT ¢ 50 m 10.8[ 12.16 - 1.36
FUIFLVERFET ¢ 50 s AT 12
N UIFLVEYIE T ¢ 50 a 6
AHZHIILBFET ¢ 50 a 4
HTUHHRET ¢ 50 Y 2
HERBEL FEA 3 &3 2
O —F4 2974 %— m 10.8
EHHRTF—JI »50 W=30mm m 10.8
EHR—MT W=400mm 4 JJL m 10.8
WBKERERET ®50 m 12.2




4-2. FeKEX T



EKELIERERE

AT /AT EHE RHEIE Nyhikn 51 51 5-1 5-2 5-3 b
#BAs HPPE ¢ 150 DP0.60 1 As 129.31 49.96 179.27
IB58As HPPE ¢ 150 DP0.70 2 As 3.79 250.04 220.81 474.64
0.55 0.20
B38As HPPE ¢ 75 DP0.70 3 As 10.64 24.86 35.50
B &As HPPE ¢ 50 DP0.70 4 As 4.84 4.84

694.25




Bo K &

T TEFR

241 2472 P1508&%R [ #1473 OISEREE | 24 T4 ¢ 5088 %
T 1 AsEhit AsEst B i As S B i As i
HPPE ¢ 150 | HPPE ¢ 150 INET HPPE ¢ 75 INET HPPE ¢ 50 INET H W&
TEHITE 0.55 0.55 0.55 0.55
VL] 0.20 0.20 0.20 0.20
T#HY 0.60 0.70 0.70 0.70
EE| 179.27 474. 64 4 84 479. 48
SHEEYIMT T (As) t=20cm 359. 64 950. 38 1310. 02 72.10 72.10 10.78 10. 78] 1392.90 m 1393 m
SHEERRBERE T (As) t=10cm 98. 60 261.05 359. 65 19.53 19. 53 2.66 2.66] 381.84 m2 382 m2
SHEETRER T AsE BHO. 2 4.93 13.05 17.98 0.98 0.98 0.13 0.13 19.09 m3 19 m3
SIS T Astg BHO. 2 11.59 30.67 42. 26 2.30 2.30 0.31 0. 31 44 87 t 45 t
£HEELN BT T (Co) t=20cm m m
SHEERRBE R T (Co) 10<t=15cm m2 m2
SHAESLEIR T CoXg BHO. 2 m3 m3
SIS T Cog BHO. 2 t t
HEEI T e BHO. 2 81.84 242.78 324. 62 16. 40 16. 40 2.16 2.16] 343.18 m3 343 m3
R T (BEHI%A) BAER BHO. 2 32.99 87.33 120. 32 5.45 5.45 0.69 0.69] 126.46 m3 126 m3
BT W=1.8m RC-40 t=36cm 98. 60 98. 60 98. 60 m2 99 m2
BEET W=1.8m RC-40 t=35cm 261.05 261. 05 19.53 19. 53 2.66 2.66] 283.24 m2 283 m?2
PIERRE
BT W=1.8m M-30 t=10cm 98. 60 261.05 359. 65 19.53 19.53 2.66 2.66] 381.84 m2 382 m?2
BEZNE
ERAET As t=4cm A AB 98. 60 98. 60 98. 60 m2 99 m2
BEFTRHE
ST As t=5cm A 261.05 261.05 19.53 19.53 2.66 2.66| 283.24 m2 283 m?2
ERAET Co t=15cm A B m?2 m?2
EIERLST T %> BHO. 2 81. 84 242.78 324. 62 16. 40 16. 40 0.13 0.13] 341.15 m3 341 m3




2471 HPEA150 A s#p DP=0.60m (Fh:E) BHO. 2
6= 150 EE L= 179.27 m SEEYET (As) | ( 179.27 + 0.55 ) x 2,00 359. 64 m
t=20omELT
+#HY H=  0.60 m (E=20cmELF)
A B R SHE BRI T (As) 0.55 x 179, 27 98. 60 m?
(t=10cmELT)
0.05 A s A s | 004 SR T 0.55 x 0.83 x 179.27 81.84 m3
()
gRfE T 0 10 0. 14 BAMERET 0.55 x 0.380 — 0.025)x 179.27 32.99 m3
M-30 :
FHAETEHERET X X m3
gRAE T 0.88 gaE T 0.55 x 179,27 98.60 m?
0.83 RC-40 0.36 W30 t=100m
pRiE T 0.55 x 179,27 98. 60 m?
(RC-40 t=36cm)
0.1 AR
ST 0.55 x 179,27 98.60 m?
(BEZAs t=4cm)
0. 180 0.38
BHusT 81.84 - 81.84 m3
0.1 ()
wiE BHusT 0.55 x 0.05 x 179.27 4.93 m3
(At
0.55 0.025 m?2 11.59 t




2452 HPEG150 A sZF DP=0.70m (I23&) BHO. 2
o= 150 EE L= 474.64 m SEEYET (As) | ( 474.64 + 0.55 ) x 2,00 950. 38 m
(t=20emBLT)
+HHY H= o
A B R SHEIRRREE T (As) 0.55 x 474 64 261.05 m?
(t=10cmBLT)
0.05 A s A s | 005 AT 0.55 x 0.93 x 474.64 242.78 m3
()
gafE T 0,10 0-15 BAMEET 0.55 x 0.380 — 0.025)x 47464 87.33 m3
M-30 :
FHAETEHERET X X m3
e 0.98 gaE T 0.55 x 474,64 261.05 m?
0.93 RC-40 0.45 W30 t=10cm)
gafE T 0.55 x 47464 261.05 m?
(RC-40 t=35cm)
0.1 AR
spsET 0.55 x 47464 261.05 m2
(B4 ZAs t=5cm)
0.180 0.38
BT | 242.78 - 242.78 m3
0.1 E3D)
BT BHusT 0.55 x 0.05 x 47464 13.05 m3
(At
0.55 0.025 m?2 30.67 t




2473 HPPEGT5 A s DP=0.70m (IE&) BHO. 2
¢= EE L= 35.50 m SESEME T (As)|  (35.50 + 0.55 ) x 200 72.10 m
(t=200mELT)
+#Y H= o
BBl 2 R SRR T (As) 0.55 x 35.50 19.53 m?
(t=10cmBLF)
0.05 A s A s | 005 SR T 0.55 x 0.84 x 3550 16. 40 m3
(&)
PR T 0.10 015 BAMEET 0.55 x 0.290 — 0.006)x 35.50 5. 45 m3
M-30 :
FHAETEHERET X X m3
7 0. 89 g T 0.55 x 35.50 19.53 m?2
0. 84 RC-40 0.45 @30 t=10cm
Bz T 0.55 x 35.50 19.53 m?2
(RC-40 t=35cm)
0.1 BAR
ST 0.55 x 35.50 19.53 m?2
(B4 ZAs t=5cm)
0. 090 0.29
BHOST 16.40 - 16.40 m3
0.1 ()
B BHOST 0.55 x 0.05 x 35.50 0.98 m3
A s 5D
0.55 0. 006 m?2 2.30 t




2474 HPPEG50 A s DP=0.70m (IE&) BHO. 2
¢= EE L= 4.84 m SESEUMET (As)|  ((4.84 + 0.55) x 200 10.78 m
(t=200mELT)
+#Y H= o
BBl 7 R SRR T (As) 0.55 x 484 2.66 m?2
(t=10cmBLF)
0.05 A s A s | 005 SR T 0.55 x 0.81 x 484 2.16 m3
(&)
PR T 0.10 015 BAMEET 0.55 x 0.263 — 0.003)x 4.84 0.69 m3
M-30 :
FHAETEHERET X X m3
7 0. 86 gRiE T 0.55 x 4.84 2.66 m?2
0. 81 RC-40 0.45 @30 t=10cm
Bz T 0.55 x 4.84 2.66 m?2
(RC-40 t=35cm)
0.1 BAR
ST 0.55 x 4. 84 2.66 m?2
(B4 ZAs t=5cm)
0. 063 0.26
BtmsT 2.16 - 2.16 m3
0.1 ()
B BtmsT 0.55 x 0.05 x 4.84 0.13 m3
(A s 50
0.55 0. 003 m2 0.31 t
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EMEER (BERFELET)

w M o & RS 18 A
4 FE GG ST B % & | & B HBAER | AFHER H B
mE2E FCD
7.5K ¢ 100X 700 i 2 2
STV TFE SS400 FArya—k
7.5K $ 100 X 100 X 300 1A 2 2
77V SS400 FAmya—h
7.5K ¢ 100 X 287 X 120 & 2 2
7T A SS400 FAmya—h
7.5K ¢ 100 X950 | 1 1
Wi (77 ) SS400 FAnya—h
7.5K ¢ 100 Z4ay Mt & 2 2
FCD450
S ¢ 100 1 - -
AR —F— FCD450
7.5K $ 100 i# 1 1
V7 =AY FR FCD450
7.5K ¢ 100 /N RLAF 5 3 3
T VEA SUS304
7.5K $ 100 HH 14 14
Lo R—L WE~HE
3000 X 1400 X 1700 | {& 1 1
P& FCD
¢ 600 i 1 1
EVE LU/
¢ 600 X 140(H) e 1 1
B
SUS304 = 1 1
ES=)
= 1 1
PSAT AR
ISARABLE H X 1 1




EMEER (BERFELET)

w M o & RS 18 A
4 FE GG ST B % & | & B HBAER | AFHER H B
mE2E FCD
7.5K ¢ 100X 700 i 2 2
STV TFE SS400 FArya—k
7.5K $ 100 X 100 X 300 1A 2 2
77V SS400 FAmya—h
7.5K ¢ 100 X 287 X 120 & 2 2
7T A SS400 FAmya—h
7.5K ¢ 100 X950 | 1 1
e (7o) SS400 FAnya—h
7.5K ¢ 100 Z4ay Mt & 2 2
FCD450
WE S $ 100 & - -
AR —F— FCD450
7.5K $ 100 & 1 1
VTR — A FCD450
7.5K $ 100 /N RLAS * 3 3
T VA SUS304
7.5K $ 100 i 14 14
Ly R—IL WIE~TE
3000 X 1400 X 1700 | {& 1 1
(7 FCD
¢ 600 i 1 1
LR
¢ 600 X 140(H) e 1 L
A
SUS304 2V 1 1
ESe
= 1 1
PSAT YR
NASZEE H = 1 1




T TieFER

%

% AR R K | BAAL = & 3
BH 0.20 /p—7

HEAR R I T HEh A%k A m® 17.2 17.2
syarMEBRT | EAD m® 5.1 5.1
PR MR T m® 4.1 4.1
7MLy T m® 13.1 13.1
W s T =150 m’ 3.4 3.4

I CR40~0 m® 0.50 0.5
a7 —R T 18-8-40 m® 0.17 0.2
AN R ESA T |h=2.00~2.50m m 8.16 8.2




+ T ¥ B 3 oB o= ML Lo I
B p =
2E X
N By ’ /%
. U H Eﬁbﬁﬂ
i ; E Ve
@0 10 | |20 I . §[ L,
= g | e ©
i | | Eo
- i . | BE | B &
& B ks At (3 =¥ BT oy | ik
RN T 3.400 X 2.400 X 2.11 = 17.218 m® 17.22
Jyal MR T AR 3.400 X 2.400 X 1.06 = 8.650 D
2.300 X 1.300 X 0.96 = 2.870 @ (%)
2.400 X 1.400 X 0.2 = 0.672 @ (=%
V= O-@-®
= 8.650 — 2.870 — 0.672 = 5.108 m? 5.11
BFAMAEERET 3.400 X 2.400 X 0.800 = 6.528 (D
2.300 X 1.300 X 0.800 = 2.392 2 (Jk&)
v=D-2-@)= 6.528 — 2.392 = 4.136 m? 4.14
ALy T 17.22 — 4.14 = 13.080 m? 13.08
e R t=150 2.400 X 1.400 = 3.360 m® 3.36
CR40~0 2.400 X 1.400 X 0.15 = 0.504 m? 0.50
a7 —h T 18-8-40 2.400 X 1.400 X 0.05 = 0.168 m? 0.17
S B A T [h=2.00
~2.50 3.400 X 2.400 = 8.160 m 8.16
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REpEs HEERtEE
A (FRiE)
EGENGs A 0. 60 m
LB . 0 3. B it 15
(=g HPPE Al o) As=15cmPL T 240 m /H
(=gia (2 ZRB0) — Sl 10cmLh 810 m2/H
[mE2S 150 mm P (R AK3E-(LAE0. 28m3[FAK0. 20m3] 43 m3/H
[WE2S (2 B — mm MR L K- LIRS0, 28m3 (& >/ SHEIT) 33 m3/H
EIMER 0.18 m T AR T ZKIE-1. 8m AT 222 m2/H
EIMER (2 ZRBLE) m % T KIBE-NF1-t =50 250 m2/H
AT RR A 0.10 A/m bR AR T ORI AKIE-1. 8m AR 222 m2/H
A (2 55E) N/m b AR T (L) m2/H
2. T - EhEEREAL AEIRT (As)  TAR-HA-EHE-1. 4mP) L 2300 m2/H
AR 0.55 m A IR T (Co) m3/H
£ EURES 0.78 m 4. +T  EETHEE(OmYS DY)
b L= 0.33 m EliZE I AR Y T 5.50 m2
HRLE 0.37 m RIE T 4.02 m3
T AR 0.15 m Y IR T 1.56 m3
Gl 0.03 m HELTL 2.04 m3
LIERARIE CRIGRAEA) 0.10 m AT 5.50 m2
LlEgaE (R E L) m {2 T 5.50 m2
LIEazE  CRIRAA) 0.55 m SRAERRIEEI T CORIE IR 34.00 m2
LiEaE (R E ) m AR T (ARIEIREE - RIFREA) m3
AIEIH)E (AsE#ZE) 0.05 m B AR T ChrFitA) 5.50 m2
AIEIRE (Cokids) m g AR T (V5 22 EALBR) m2
A AR 3.40 m Bl T (AsEH%E) 34.00 m2
AEIA (E%0 = ST (Cofii%E) m3
SRR (1LEIE . (EIRE) 2 R 5. ZZiW 5 B AN Ak 2 A
SEEAREIWTEL (2BIH . ABEIAR) IS 6. H IR R 773.50 m
@10m¥Y Y THRAKDOHEM
LR UM T (1[EIH, {RIEHEF)  10.00m X 24 <+ 240.00m= 0.08 H
SRR AN T 5.50m2 <+ 810.00m2/H = 0.01 H
R L 4.02m3 <+ 43.00m3/H= 0.09 H
BAE T 10.00m <+ (4A/H =+ (0.10 + 0.00) A/m)= 0.25 H
Wb EEE T 1.56m3 =+ 33.00m3/H= 0.05 H
HELT 2.04m3 <+ 33.00m3/H= 0.06 H
ThE T 5.50m2 <+ 222.00m2/H X 1jg= 0.02 H
g T 5.50m2 <+ 250.00m2/H = 0.02 H
ERRUIMT T (2[EH, AEHEE)  10.00m X 1A <+ 240.00m= 0.04 H
EREERREEI T ORTEIRIE) 34.00m2 =+ 810.00m2/H = 0.04 H
FEALIREI T, R IRE - RFRRR) A
bR T ChraRiea) 5.50m2 <+ 222.00m2/H X 1fg= 0.02 H
FERAET (EEHLELE) A
AREIET (Astifizd) 34.00m2 <+ 2,300.00m2/H= 0.01 H
EiE L (CokizE) A
& Fr 0.69 H
H & 10m <+ 0.69H= 14.49 m/H
Jiti T H 4% 773.5m—~+14.49m/H = 54 H
EHUEEH  54AX2A= 108 A




